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Given the following DC circuit

n £ ) 2 b
| RN |
r R3 E
g C)zs
E,=18V I,=7A E;=10V
r=1Q g=058S
R|=BQ R2=2Q R3=IOQ

a. {16 points}
Calculate the value of the currents /; and £, as indicated on the circuit.
b. {4 points}

In which direction does the current flow in the voltage-source £3 ?
Does this source supply or consume energy?
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Mavn

I, =g, =1538A

I, =3.03A
I, =7.424A
I, =4.394A

310.6W

|, =0.75A
|, =—0.25A
2

le, =0.5A

R,, =1.791KQ
E =351.44V

P. =3.733W

R, =23.04Q
U, =49.66V
P, =194W P, =24.83W = P, = 218.83W

1 =96.4%

| =0.593A[B - A]
E, =20V r=2Q E,=30Vr,=4Q

R =50Q R, =400
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